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FH: OlsES, I8 Nd & H4=sX g4 (MIsSX/E] - I F5L0HY)
ool olMFM =X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
&It 0t 13,631,946 10,871,627 2,760,319
=2 1,816,871
Xl 700,000
J| 2,356,432
= 1,269,588
Al 7,489,055
Ots2=, 5 X & HE=X g4 (MISEX/ES - 8,861,196 7,578,968 1,282,228
=L Y)
=2 1,794,171
J| 1,594,027
< 1,103,681
Al 4,369,317
ez =2 2,852,511 1,720,236 1,132,275
2 322,850
J| 12,000
= 250,955
Al 2,266,706
HE&EAMMNY =& 2,053,901 938,826 1,115,075
101 1244 Hl 1,766,923 662,985 1,103,938
04 D122 2REE S 1,766,923 662,985 1,103,938
OS&FIH, SO0t HMAE X2 677,724
] 48,2403 708 «180! 607,824
-AHEE J&22Y3 607,824,000 *11.5% 69,900
o2l JHd 28 ZEHHE g AZEEH &
Atel Ak 1,089,199
i ral:] 6,030 <300 4 A| 2H+27 L 53 976,860
A2 J|22E3 976,860,000& *11.5% 112,339
201 Yot 2 Y| 33,670 30,746 2,924
01 At 22l 8l 33,670 30,746 2,924
O1.4et=EHl 4,700
—HAF MY R dpt=2HI 2,700,000& 2,700
-2 el ALY ZBh=E Y| 2,000,000& 2,000
O2. A€W =Hl 14,000
-—HdE eI M20E dHUR
4,000,000& 4,000
- EESEA BEESRY BME=2 AAS
3,000, 000& 3,000
33012 2 JIgM Ua HoXd saNs
4,000,000& 4,000
-HEW Hd38 - 4= gL Ss
3,000,000& 3,000
03.2g89=¢ 10,350
SHAEMYR TAZE 150,000& 20X 3,000
-AHESARE 4
70,0003 »15H *32] 3,150




M OlSES, IHE XY € 4SS A (MISXN/ES - II=E20H L)

HEEY =7 (el:de)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
“EZEAl MUESHM FARAJE ST
70,000& x10Z *32 2,100
NS A ZHAE +g
70,0003 x15F +23| 2,100
O5.2&Hl 4,620
GAENY AREN ZA
7,000 x5« 112123 4,620
202 044l 5,400 4,320 1,080
01 = LH o4 1l 5,400 4,320 1,080
OWddEd™ RFANHI
60,000 *5H 32 63| 5,400
301 et d = 10,408 8,560 1,848
0B M ERRIABHS 1,848 0 1,848
OMIA=ERF SAHl 7,0008 1F 222 128 1,848
09 EALEHIE &S 8,560 8,560 0
OS8E WHEXEX SLWEHAX ol
60,0003 x30H 2 3,600
OWLEEEZHE UERT AHES S4
7,000& 80 #23| 1,120
OWHAZSEZAl ANBNEZHE ESHI
10,000& »32H x123] 3,840
307 21201 A 232,500 227,215 5,285
11T AL S XA E = 232,500 227,215 5,285
OWAXIEX 2dHN=H 10,000, 000& 10,000
O=xg 23t =M 4,000,000& 4,000
OM111al Zg =242 Z2IIMa 7,000,000 7,000
OX<E=2l1 SNdt=s =& 4 M0
2,000,000& 2,000
OBPWEH =M A= 3 10,000, 000& 10,000
OuME 28 ety u=s 3,000,000& 3,000
ONWg0ol #=& OS2 2323 2SI
3,500,000& 3,500
OWEAE XA AL 500,000& x40 «6°& 120,000
OXNYSEE HYXNEAY 69,000,000& 69,000
O&EH HelXd eaus 4,000,000& 4,000
401 A& HIZ 2018 5,000 5,000 0
01 A& HI 5,000 5,000 0
Odtieis2t =24 100,000& x50 5,000
HEcH XI& 21,100 21,100 0
201 Let2d] 3,900 3,900 0
01 At 2teltl 3,900 3,900 0
O1.det=2Hl 900
“ESA e dF HI M 900,000 900
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=
M OhSES, HE XY 2 HE=ST S (M=X/ES

B SSIELVEED
Sl HAEH FX CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O6.9 1tz 3,000
-HAOs 2 Ns MY S
500,000 *2CH x33] 3,000
301 L2 A F 1,200 1,200 0
09 HALAHIEA S 1,200 1,200 0
OEH? &zl A0l 60,0003 x20H 1,200
307 21201 A 16,000 16,000 0
11 At 2 XI At 16,000 16,000 0
o4t 213 2,000,000& 2,000
O&d =03t 0l AFY XI& 14,000, 000& 14,000
HEMZLoIIHEH 2L (EX) 429,700 414,420 15,280
= 322,850
< 30,705
Al 76,145
307 21201 A 429,700 414,420 15,280
= 322,850
< 30,705
Al 76,145
11 AMSSIAIEE X 429,700 414,420 15,280
OWEMZLaINdH 29 429,700,000 429,700
= 322,850
< 30,705
Al 76,145
HAFoEASHAIL(EX) 25,000 20,000 5,000
< 7,500
Al 17,500
307 glz2tol & 25,000 20,000 5,000
< 7,500
Al 17,500
1T ARSI S XIAMEE X 25,000 20,000 5,000
OJIga&Es HdAgXA 25,000,000& 25,000
< 7,500
Al 17,500
250|210 ALl HIXN|A(EX) 15,000 15,000 0
| 12,000
= 750
Al 2,250
307 21201 A 15,000 15,000 0
| 12,000
= 750
Al 2,250
11 AISI S XA E X 15,000 15,000 0
OZE0l80d CE2F XA 15,000, 000& 15,000
| 12,000
S 750




OtsEE, Jt& X & HA2X sM(AMIIERN/EE - It
L oEEY =X (el @2)
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
| Al 2,250
AHdEHS =8 29 30,810 27,810 3,000
201 gEt24y| 810 810 0
03 A2 EH| 810 810 0
OddHsSF2t 810,000 810
307 2iztol & 30,000 27,000 3,000
11T A EXAIEEX 30,000 27,000 3,000
OxHdHs=2t ELDNG 30,000,000 30,000
A WFAYE XS 9,000 13,080 A4 080
201 et 4,200 8,280 A4 ,080
03 A2 HH| 4,200 8,280 A4 080
OWA&ECEH & 4,200,000& 4,200
301 et A= 4,800 4,800 0
09 HAIAHI EAZ 4,800 4,800 0
OWAECSHM DEANY A 4]
60,000& *40H x23| 4,800
HAECH 2HRFAS 22,000 22,000 0
202 044 2,000 2,000 0
03 =220 2,000 2,000 0
OWECH Z2HMEs 28522 & O]
2,000,000& =14 2,000
307 2I2t0| ™ 20,000 20,000 0
11 A EXAIEEX 20,000 20,000 0
OWMEEH 2HMESE AFEHl  1,000,000& *x20H 20,000
Aol 2d9(BX) 198,000 198,000 0
= 188,000
Al 10,000
307 2Iz2to| & 198,000 198,000 0
= 188,000
Al 10,000
10 AISIEXAIEEHA H 2 X 198,000 198,000 0
ool A 198,000,000 198,000
& 188,000
Al 10,000
=2JI2 HWHHE(EX) 48,000 0 48,000
& 24,000
Al 24,000
307 gizto| A 48,000 0 48,000
= 24,000
Al 24,000
04 CIZ2tSHALALS B = 48,000 0 48,000




M o6&t

HH: OtsEg, )= 18 2 HEsSX S (A=SX/ES - HELNHY)

>

Sl GEFH FX (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZEg=2Ite HHA 48,000,000& 48,000
< 24,000
Al 24,000
HERE 6,008,685 5,858,732 149,953
= 1,471,321
J| 1,582,027
< 852,726
Al 2,102,611
Ioiod 25 & =X g4 176,260 131,760 44,500
201 Let24E] 75,480 3,480 72,000
01 At 22l 75,480 3,480 72,000
O1.€8=&H| 73,800
-MEXNFAY R det=2H] 1,800,000& 1,800
“JIEES AZI 23S 72,000,000& 72,000
O5.2 &l 1,680
OIENY ALEF 24
7,0003x2H*10L 128 1,680
202 O4dl 2,160 2,160 0
01 = LH 4 Hi 2,160 2,160 0
ONEXNH RFEAHI
60,0003 x2H 3 63| 2,160
301 gt d= 84,020 84,020 0
01 Ml2ZE +06l= 79,400 79,400 0
OSR2IIE8 SIALE(ZE82NE) 22
60,000 30 Al CH »32 5,400
OB=2IE SNAL SAR VHHES
3,000,000 =8 Al CH 24,000
OSR2ItE 5 - 0w st W=l
250,000& »200H 50,000
09 SAAHIEA S 4,620 4,620 0
OstRZIE SXAE SAR D=0
60,0003 »3H +3 540
OZEe S22II= 223 & 40H|
60,0003 «2H 22«17 Al CH 4,080
307 gl2tol & 14,600 22,100 A7,500
11T M SXAISE EX 14,600 22,100 A7,500
OR2VIIEXNH HETFAZS EJHT K2
690,000& »10H 6,900
Ooots&8=d" =29 & JIE>d A 3,000,000& 3,000
OJI&EE BtE= dM-II5 2,200,000 2,200
O=HZENHUAES & HFEXIAANN
2,500,000 2,500
SHRERIIE STANERINA(EX) 353,554 344,747 8,807
< 62,730




DA ED

B OlSRS, HE NY UL A=K BA(MASX/E2S - I}

od)

B ENE! )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
Al 290,824
307 glz2tol & 353,554 344,747 8,807
< 62,730
Al 290,824
10 ALSISXAIEEE 22X 353,554 344,747 8,807
OStRLZINE=EXNAE 2E XA 342,377,000 342,377
< 59,377
Al 283,000
OstREEINE=SXNAELEL AR BA 2 AFH|
4,500,000& 4,500
< 1,350
Al 3,150
OSR2IESNANELL LML otH +=&bI
6,677,000& 6,677
< 2,003
Al 4,674
SHRERIIE SXAE SA=L(EX) 10,080 9,600 480
< 3,024
Al 7,056
307 21201 A 10,080 9,600 480
< 3,024
Al 7,056
10 ALSISXAIEEE2FHEX 10,080 9,600 480
OstREZINEEXNANE SAA=E
10,080,000& 10,080
= 3,024
Al 7,056
SIRERIIESNANLELANAERNZ(BX) 9,200 8,532 668
J| 4,600
< 1,380
Al 3,220
307 212+0| 9,200 8,532 668
J| 4,600
< 1,380
Al 3,220
11T MISRASEEX 9,200 8,532 668
OSREZIESNANELL LT dEXNSAH
9,200,000& 9,200
J| 4,600
< 1,380
Al 3,220
ZSHMENFH TN (BE) 33,600 27,600 6,000
J| 33,600
307 21201 A 33,600 27,600 6,000
J| 33,600
10 ALSISEXAIEEE2EHEX 33,600 27,600 6,000
OZsdEINZEEF=HASA 33,600,000& 33,600
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DA ED

COISES, OE N L HASX SH(ASX/2S -0
D IIEXE Chel: ® &)
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Ei HR=2
| Pl 33,600
SHEDIIEXH (2H]) 882,800 914,200 A 31,400
J| 706,240
== 52,968
Al 123,592
301 Bt A= 882,800 914,200 A 31,400
J| 706,240
= 52,968
Al 123,592
01 Al E & A 452 882,800 914,200 A 31,400
OstE2I=X 4 882,800,000 882,800
J| 706,240
= 52,968
Al 123,592
SFEEIIEXA(BX) 275,859 246,806 29,053
& 82,758
Al 193,101
301 et A= 275,859 246,806 29,053
= 82,758
Al 193,101
01 Al B & A 46 2 275,859 246,806 29,053
OStEE2IIEXE Hegs 2 145,600,000 145,600
o 43,680
Al 101,920
OStEE2IIEXNEHREH & 61,572,000 61,572
& 18,472
Al 43,100
OStRER2IIENEHEXSEM dts stSME
68,687,000 68,687
& 20,606
Al 48,081
SIERIJIE I8 X2 (EX) 36,000 44,000 A 8,000
& 10,800
Al 25,200
301 et A= 36,000 44,000 A 8,000
& 10,800
Al 25,200
01 Al B & X 46 2 36,000 44,000 A 8,000
Ost22IIE NEXIA2 36,000,000 36,000
= 10,800
Al 25,200
SHEDIIE g8=dHaH(BEX) 553,600 563,724 AN 10,124
= 83,040
Al 470,560
301 et A= 553,600 563,724 A 10,124
& 83,040
Al 470,560




AR GRS =
HH: b2, )13 18 2 HE=SX S (ASX/ES - 0t

He
2
0x

ol JIEXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 553,600 563,724 A 10,124
ORIt EsHZH| 553,600,000& 553,600
= 83,040
Al 470,560
HAGUSI2EI XA (BX) 14,140 10,758 3,382
J| 11,312
< 848
Al 1,980
301 et a s 14,140 10,758 3,382
J| 11,312
< 848
Al 1,980
01 MEIBEE 263 14,140 10,758 3,382
OFAHEREEIIE Ots2=4dl  13,315,000& 13,315
J| 10,652
S 799
Al 1,864
OG22 AF DA S5 638,000 638
J| 510
< 38
Al 90
OBAUSEOIE NYHEETLY
187,000& 187
J| 150
< 11
Al 26
AT MHEHL SEOHHI(2E) 3,400 3,400 0
< 3,000
Al 400
301 et a s 3,400 3,400 0
< 3,000
Al 400
01 MEIBEE 263 3,400 3,400 0
OLZIMMHEHL MEHtFHZ X
3,400,000& 3,400
< 3,000
Al 400
AZWHHSY (B E) 5,000 5,000 0
< 1,500
Al 3,500
307 glz2+ol & 5,000 5,000 0
< 1,500
Al 3,500
10 ALSISXAIEEE2EHEX 5,000 5,000 0
OZslltd 2¢9 5,000,000 5,000
< 1,500
Al 3,500




SH: KIS
HE: OS2SR, IS N L (ASK SH(MSK/ESF - HSL0H)

S IS S (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

S L 2EXNA(EX) 114,388 111,726 2,662
J| 57,194
< 8,579
Al 48,615

307 gl2tol & 114,388 111,726 2,662
J| 57,194
< 8,579
Al 48,615

10 AL SXAIEEE2EH EX 114,388 111,726 2,662
Osgagar 2 114,388,000& 114,388
J| 57,194
< 8,579
Al 48,615

HEgMagL 2SN (BX) 71,700 70,045 1,655
J| 35,850
< 5,377
Al 30,473

307 glz2+0l & 71,700 70,045 1,655
J| 35,850
< 5,377
Al 30,473

10 ALSISEXAIEEE2EHEX 71,700 70,045 1,655
OdZ84agds 2 71,700,000 71,700
J| 35,850
< 5,377
Al 30,473

=Y ML 2HXNA(BEX) 215,100 210,135 4,965
J| 107,550
< 16,131
Al 91,419

307 21201 A 215,100 210,135 4,965
J| 107,550
< 16,131
Al 91,419

10 AL SXNAIEEE2EHEX 215,100 210,135 4,965
Otzg=dagsr 29X 215,100, 000& 215,100
J| 107,550
= 16,131
Al 91,419

IS ZHIHA ESAESIRNA(EX) 95,417 102,735 NT,318
J| 66,792
= 8,587
Al 20,038

307 glz2+ol & 95,417 102,735 NT,318
J| 66,792
= 8,587
Al 20,038




SH: KIS
HE: OS2SR, IS N L (ASK SH(MSK/ESF - HSL0H)

Ch: JIEXL (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 M3 SAANEEHESIGHEX 95,417 102,735 NT7,318
OJNEZHIlANESAE 2HXA
95,417,000 95,417
J| 66,792
& 8,587
Al 20,038
SOHOHIIH R KIRAIE 2GRN (EX) 312,000 295,400 16,600
J| 218,400
= 28,080
Al 65,520
307 2Iz2t0| & 312,000 295,400 16,600
J| 218,400
== 28,080
Al 65,520
10 M SAANEEHESIGHEX 312,000 295,400 16,600
OSOHOHIIGH A KIRAIE 2HX&H
312,000,000& 312,000
J| 218,400
= 28,080
Al 65,520
SOHOHIIH A YA 2IRRF(EX) 145,500 137,200 8,300
J| 72,750
= 21,825
Al 50,925
307 2Iz2to| A 145,500 137,200 8,300
J| 72,750
== 21,825
Al 50,925
10 M SAANEEHESIGHEX 145,500 137,200 8,300
OMS0OHDHII oA E A 2SI 145,500,000 145,500
J| 72,750
= 21,825
Al 50,925
SO Z XS SLSAIL(EX) 81,440 80,000 1,440
J| 40,720
= 12,216
Al 28,504
307 QI2t0| ™ 81,440 80,000 1,440
J| 40,720
= 12,216
Al 28,504
10 A SAANEEHESIGHEX 81,440 80,000 1,440

OHUHHEZX EEIIsZstAY 24l
4

81,440,000 81,440
Il 40,720
= 12,216
Al 28,504
HOUWHEZXNSEHIIs2s HEXAH(EX) 31,429 31,429 0




SH: KIS
HE: OS2SR, IS N L (ASK SH(MSK/ESF - HSL0H)

ol JIEXE (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Il 22,000
= 2,829
Al 6,600
307 i+l & 31,429 31,429 0
| 22,000
< 2,829
Al 6,600
11 ASISAAISEE =X 31,429 31,429 0
OHMHHEZ NS EISZSIHE X2
31,429,000 31,429
| 22,000
= 2,829
Al 6,600
SOHO0H Tt REXS(EX) 37,143 31,571 5,572
| 26,000
< 3,343
Al 7,800
307 glz2tol & 37,143 31,571 5,572
| 26,000
S 3,343
Al 7,800
11 AISI S XA E = 37,143 31,571 5,572
O&OHOHIIGH A =KX 37,143,000 37,143
J| 26,000
< 3,343
Al 7,800
OIXAMLSA2ARNA(EE) 36,000 28,000 8,000
< 10,800
Al 25,200
307 21201 A 36,000 28,000 8,000
< 10,800
Al 25,200
10 ALSISXAIEEE2IHEX 36,000 28,000 8,000
Ob0XA&ES 2HX2 36,000,000& 36,000
< 10,800
Al 25,200
I =T 2l2dl N (BXR) 12,144 11,568 576
| 8,500
< 1,094
Al 2,550
307 gl2tol & 12,144 11,568 576
J| 8,500
< 1,094
Al 2,550
11T AISI S XA E = 12,144 11,568 576
ONE=ZgUaixt od=H XA 12,144,000 12,144
| 8,500




2N

GRS

FH: OlsES, I8 Nd & H4=sX g4 (MIsSX/E] - I F5L0HY)
el JIEXY CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
< 1,094
Al 2,550
SZATHAASZHI XA (EX) 15,316 15,316 0
J| 10,722
< 1,378
Al 3,216
307 glz2tol & 15,316 15,316 0
J| 10,722
< 1,378
Al 3,216
11T M SRAISE EX 15,316 15,316 0
Od=ZdIlai it 2A=2H XA 15,316,000& 15,316
J| 10,722
< 1,378
Al 3,216
IIFZLONL NSISZ2JHL2Y(BEX) 25,714 25,714 0
J| 18,000
< 2,314
Al 5,400
307 21201 A 25,714 25,714 0
J| 18,000
= 2,314
Al 5,400
11T MISRASEX 25,714 25,714 0
OJNE=ZLIHA N2 082
25,714,000 25,714
J| 18,000
< 2,314
Al 5,400
IIEZIOIN nAXNSIIST2NHSI(EX) 27,000 35,269 A 8,269
J| 18,900
< 2,430
Al 5,670
307 glz2+ol & 27,000 35,269 A 8,269
J| 18,900
< 2,430
Al 5,670
11T MISAASEX 27,000 35,269 A 8,269
ONEEHI A REXNSSIEEZZINSH 23
27,000,000& 27,000
J| 18,900
< 2,430
Al 5,670
SZALMNA NS NH2S(BX) 15,714 20,000 A 4,286
J| 11,000
< 1,414
Al 3,300
307 glz2+ol & 15,714 20,000 N4,286




2N

GRS

FH: OlsES, I8 Nd & H4=sX g4 (MIsSX/E] - I F5L0HY)
el JIEX @ (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Il 11,000
< 1,414
Al 3,300
11 AISI S XA E = 15,714 20,000 N4,286
OdZHIoi A N2 Es22 W2
15,714,000 15,714
| 11,000
< 1,414
Al 3,300
AEZEIANREXNS I JHSA(BX) 21,320 19,080 2,240
| 14,924
< 1,918
Al 4,478
307 gl & 21,320 19,080 2,240
| 14,924
< 1,918
Al 4,478
11T AISI S XA E X 21,320 19,080 2,240
OdZ=HJIoi At nEXNSZZ20H 29
21,320,000& 21,320
| 14,924
< 1,918
Al 4,478
SZH0IHA ssHEXNE(BX) 1,000 1,500 A 500
| 1,000
307 glz2tol & 1,000 1,500 A 500
| 1,000
11 AISI S XA E = 1,000 1,500 A 500
O&=gIloiit SsHIEXA 1,000,000 1,000
J| 1,000
SAEZSTIcHA 2EH X (BEX) 1,285 2,500 AN1,215
| 900
< 115
Al 270
307 21201 A 1,285 2,500 A1,215
| 900
< 115
Al 270
11T MISAASEEX 1,285 2,500 A1,215
Od=Z4mch &t 2t8Hl XA 1,285,000 1,285
| 900
S 115
Al 270
I ZS oG NgEedd Nd(BEX) 2,500 2,500 0
| 1,750
< 225
Al 525




DA ED

D OIERS, JIE Y L GA=X SFH(MEH=X/ES - HEL0Y)
CIEENE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 2,500 2,500 0
J| 1,750
= 225
Al 525
11T M SXASEEX 2,500 2,500 0
OJE =IO A Hg &l 2,500,000& 2,500
J| 1,750
< 225
Al 525
IIEZZIOI MHH =S HHABIX R (BX) 6,500 5,500 1,000
J| 6,500
307 21201 A 6,500 5,500 1,000
J| 6,500
10 ALSISXAIEEE2EHEX 6,500 5,500 1,000
ONEEHINNESAE LAXNS ==Xk
M- X 6,500,000& 6,500
J| 6,500
HEZBAALBARNLL (EE) 63,840 63,840 0
< 12,768
Al 51,072
307 glz2tol & 63,840 63,840 0
< 12,768
Al 51,072
10 ALSISXAIEEE2EHEX 63,840 63,840 0
OW&E=Zg 2 A4 SAX=Y  63,840,000& 63,840
< 12,768
Al 51,072
OEZHASAR WR(EX) 4,800 4,800 0
J| 2,400
= 440
Al 1,960
301 et a3z 4,800 4,800 0
J| 2,400
< 440
Al 1,960
09 AL HIE &S 4,800 4,800 0
Od=Z" 2HAE SAMI s 4,800,000 4,800
J| 2,400
< 440
Al 1,960
OIS - HEHEN AN Y (B X) 7,240 7,200 40
2 3,620
< 1,086
Al 2,534
201 ¢et24| 7,240 7,200 40
= 3,620




2N
COSES, HE Y ¥ HESH S (ME=EX/E2S - IS
COEEXE

X ZH
L=}
=L

GRS

SN - SAGEA) - MRAY - BES

=
i

2

= H

1,086
2,534

7,240,000&

= MW

7,240
7,240
7,240

3,620
1,086
2,534

7,

200

40

= W

7,995
3,998
1,199
2,798

,080

A 1,085

= N H

7,995
3,998
1,199
2,798

,080

A 1,085

7,995,000&

= M W

7,995
7,995
7,995

3,998
1,199
2,798

,080

A 1,085

= MW

200,000
180,000
14,000
6,000

160,

000

40,000

= W

200,000
180,000
14,000
6,000

160,

000

40,000

Ood=sTAME=a3 4AS0H 200,000,000

=z N H

200,000

200,000
180,000
14,000
6,000

160,

000

40,000

=z ¥

168,846
84,423
25,327
59,096

168,

846

307 glztol &

Il

H

Al

168,846
84,423
25,327
59,096

168,

846

168,846,000&

Il

N

168,846

168,846

84,423
25,327

168,

846




2N

GRS

B OS2SR, 15 N8 2 G L (N=N/E] - IHEL0Y)
ool JtEX EEREED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| Al 59,096
ololsE XN (EX) 971,214 971,214 0
= 679,850
== 87,409
Al 203,955
307 2Iz2t0| A 971,214 971,214 0
= 679,850
= 87,409
Al 203,955
05 QIZ2tR EF 2 971,214 971,214 0
Ootolss N 971,214,000 971,214
= 679,850
= 87,409
Al 203,955
ZOHOIIELE NN/ (EX) 762,647 746,937 15,710
= 533,853
= 228,794
307 giztol A 762,647 746,937 15,710
= 533,853
= 228,794
05 QIZtRES 762,647 746,937 15,710
OZHOIIIEAL=X & 762,647 ,000& 762,647
= 533,853
= 228,794
FAIINSANH(BEX) 140,000 179,500 A\ 39,500
= 70,000
o= 21,000
Al 49,000
307 2I2t0| & 140,000 179,500 A 39,500
= 70,000
o= 21,000
Al 49,000
05 QIZ2t &2 140,000 179,500 A 39,500
OF AN IM=R & 140,000,000 140,000
= 70,000
= 21,000
Al 49,000
HAAIE SN (EX) 60,000 0 60,000
&< 30,000
Al 30,000
307 2iz2to| A 60,000 0 60,000
& 30,000
Al 30,000
11T AISIEXAIEEX 60,000 0 60,000
OJIE9 & J|E & Al 60,000,000 60,000
o= 30,000
Al 30,000
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2N
X ZH -
L= B

el

01 & b= 1}
HAW 25 U SH(MIA=T/C0 - BAE)
=PSEEPVIE!

[l

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NJIEEd=s 600 600 0
O&A4E Roiztd & EZaza 200,0008 3% 600
307 21201 A 11,000 11,000 0
11T M SXAISEEX 11,000 11,000 0
OguEAE F4d ddu= 8,000,000& 8,000
ORFE HrEAHA X
3,000,000 =14 2 3,000
SYIHFL2HEH 289 (Bx) 291,824 215,924 75,900
J| 145,972
< 20,436
Al 125,416
307 21201 A 291,824 215,924 75,900
J| 145,972
< 20,436
Al 125,416
10 ALl SXNAIEEE2EH EX 291,824 215,924 75,900
SZIE2EEH 2494 291,824,000& 291,824
J| 145,972
< 20,436
Al 125,416
FAHZ2Y 2H(EX) 7,000 7,000 0
< 2,100
Al 4,900
307 glz2+ol & 7,000 7,000 0
< 2,100
Al 4,900
10 ALSISXAIEEE 22X 7,000 7,000 0
Oger A8 Z2E 2AEY| 7,000,000& 7,000
< 2,100
Al 4,900
HAESHEANLEMNES(EX) 1,402,520 0 1,402,520
Xl 700,000
Al 702,520
401 AIEHI L 2 CHYI 1,402,520 0 1,402,520
Xl 700,000
Al 702,520
01 A& HI 1,400,000 0 1,400,000
OPEZHAULHURY 55
1,400,000, 000 14! 1,400,000
Xl 700,000
Al 700,000
03 Al 20 HI 2,520 0 2,520
OFEZFAEUSHEHE S ANLRUH
1,400,000, 000 *0.36/100%<50%& 2> 2,520
HEASD XA (EX) 25,000 20,000 5,000




‘:i/\_|~
2
P EAE B ¥ KH(MEEX/E0 - FAaY)

el

X ZH
S =

GRS

FA4E3XN N

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 7,500
Al 17,500
307 glz2tol & 25,000 20,000 5,000
< 7,500
Al 17,500
10 ALl SXAIEEE 2 H EX 25,000 20,000 5,000
OHlE sty 2l 25,000,000& 25,000
< 7,500
Al 17,500
HAEHRSNE 2E(EX) 137,484 150,900 A 13,416
J| 68,742
Al 68,742
307 21201 A 137,484 150,900 A 13,416
p] 68,742
Al 68,742
10 ALSISXAIEEE2GHEX 137,484 160,900 N 13,416
OHLEUHESEEH 22l 137,484,000& 137,484
J| 68,742
Al 68,742
HAGERHSZ LA 2B (EX) 12,000 12,000 0
= 6,000
< 1,800
Al 4,200
307 gl2tol & 12,000 12,000 0
2 6.000
< 1,800
Al 4,200
11T M SXAISE EX 12,000 12,000 0
OFAEURMHESZZAH 288l 12,000,000& 12,000
= 6,000
< 1,800
Al 4,200
SDEAMY L GUBEXNA(EX) 2,520 2,520 0
< 1,260
Al 1,260
308 XXM SO A 2,520 2,520 0
< 1,260
Al 1,260
08 WEII20HStE X 2,520 2,520 0
OSD=E oY L HHES N
2,520,000& 2,520
< 1,260
Al 1,260
S EH HAW g ¥ SgNIA(ER) 110,400 67,000 43,400
J| 77,280
Al 33,120
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AR GRS =
M Had 25 ¢ K (MIEX/0 - FAaH)

ool 3aAE=X XA (&)
SA - BB B () - MM - BES Ol &t o San HmEET
308 X EHSOIA 110,400 67,000 43,400
J| 77,280
Al 33,120
10 B 2S0tHet B & H A 110,400 67,000 43,400
Ostgst E4aE g 2 sSAXNJ (A2l
3 110,400, 000& 110,400
J| 77,280
Al 33,120
dad 22 s2Us XN 5,000 5,000 0
307 2I2H0I A 5,000 5,000 0
11 AL S RALEE = 5,000 5,000 0
O3ad ZAHel s73U3El 5,000,000& 5,000
Fad Zads X 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
11T M SXAISE EX 5,000 5,000 0
O&FAY ZAH3 5,000,000& 5,000
dad o 222008 XN 19,000 9,000 10,000
307 21201 A 19,000 9,000 10,000
11T MISRASEX 19,000 9,000 10,000
OFAaY It AZZI| e 19,000, 000& 19,000
ZaAl a4 UEH 36,000 36,000 0
307 21201 A 36,000 36,000 0
11T M3 SXAISEEX 36,000 36,000 0
OZEA 249 =N 36,000,000& 36,000
AU ANE 29 1,098,624 1,154,965 A 56,341
= 16,700
J| 146,645
< 45,787
Al 889,492
AW EAIE 2el 2,000 50,000 A 48,000
401 Al HI K 201 I 2,000 50,000 A 48,000
01 A& HI 2,000 50,000 A48,000
OFAEHZ ZHUIE BREX 24 S
2,000,000& =14 2,000
HAdAZNE oIt 29 N (EX) 156,580 145,500 11,080
J| 78,290
< 23,487
Al 54,803
308 MtXIEHSOIH 156,580 145,500 11,080
J| 78,290
= 23,487
Al 54,803




2N

Hz: HAE B Y SH(MIA=EX/c0 - HAH)
Sl HAEABAL 2Y CERED
_ _ = -
SA BB (3H) - NRAY - B Ol At o ﬁ}l&ﬁ HRE2
10 2| 2SHCHSHE A X CHEH A H 156,580 145,500 11,080
OFAAE 25 OI2IHI0 2GRS (AME222
ch) 156,580,000 156,580
J| 78,290
= 23,487
Al 54,803
HAESHEANE FAEXSAI BHXI X R (EX) 21,840 40,080 N 18,240
J| 10,920
Al 10,920
308 XHXIEHSOIA 21,840 40,080 N 18,240
J| 10,920
Al 10,920
10 2| 2SHCHSHE A A CHEH A H 21,840 40,080 N 18,240
OFAESLHANYE FAEXSZ AN BIXI X (AlE
2| 2 ) 21,840,000 21,840
J| 10,920
Al 10,920
ZHAKLE 2I(EX) 2,800 2,800 0
J| 1,400
Al 1,400
308 XAHXIEHMSOIA 2,800 2,800 0
J| 1,400
Al 1,400
10 2| 2 SHCHSHE A X HEH A 2,800 2,800 0
OFAE ALK 2 (Al 22|2¢t)
2,800,000& 2,800
J| 1,400
Al 1,400
HAUANE 2HA23 X (EX) 2,000 2,000 0
J| 1,000
o 300
Al 700
308 XAHXIEHM SO A 2,000 2,000 0
J| 1,000
= 300
Al 700
10 2|2 SHOHSHE A& A 2,000 2,000 0
OFALAEANE 29AR35 XN (A2 2
2,000,000& 2,000
J| 1,000
& 300
Al 700
NI HEAE MRS T2 2H(2X) 6,700 6,700 0
& 2,000
Al 4,700
308 XX SHHSOIH 6,700 6,700 0
o= 2,000

- 22 -




A O{EIIS D

M AW 25 2 SA(MIZX/0 - HAW)

s By = %;D
Sl HAEABAL 2Y (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 4,700
10 B2 S0 B A HH A 6,700 6,700 0
O3 A4 MIHES Z20d 2 (Ald2el
3¢ 6,700,000& 6,700
< 2,000
Al 4,700
HAHASEXNAMARS(EX) 87,670 85,500 2,170
J| 43,835
Al 43,835
308 XX EHSOIA 87,670 85,500 2,170
J| 43,835
Al 43,835
10 B2 S0t B A XA A 87,670 85,500 2,170
OFAY SEXNIMARS(AME22SE)
87,670,000& 87,670
J| 43,835
Al 43,835
HAHMNGESIME N (EX) 90,000 90,000 0
< 20,000
Al 70,000
308 XX EHH SOl 90,000 90,000 0
= 20,000
Al 70,000
10 SIS0t B & H A 90,000 90,000 0
OFAEAE=ESIMH X3 (Ad2e3E)
90,000,000& 90,000
= 20,000
Al 70,000
Fad ol280tY NE(BX) 28,000 28,000 0
= 11,200
Al 16,800
308 AHAIEHHSOIA 28,000 28,000 0
= 11,200
Al 16,800
10 B2 S0t B & XA 28,000 28,000 0
OFAE HHSEUE KNI (Ad2e3E)
28,000,000 28,000
= 11,200
Al 16,800
HAE Sotel 2SXA(EX) 13,750 4,000 9,750
= 5,500
Al 8,250
308 A EHHSOIA 13,750 4,000 9,750
= 5,500
Al 8,250
10 SIS0t B a XA 13,750 4,000 9,750
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2N

Hi: HAH B5 L SH(MIEN/ - FAH)
Sl HAEABAL 2Y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OFAE Sotel gsXd(Ad2e3E)
13,750, 000& 13,750
= 5,500
Al 8,250
HAHASEIA(ER) 16,000 16,000 0
J| 11,200
Al 4,800
403 UHXSHHSA=0l& 16,000 16,000 0
J| 11,200
Al 4,800
02 SJ|1 2SOl CHSH At 2 X CH & AF & I 16,000 16,000 0
OBLEHSHEI ALY (A &2l 3E)
16,000, 000& 16,000
J| 11,200
Al 4,800
ANg2e3e BE2(SXALE) 671,284 682,385 A 11,101
9 HMES 622,484 595,185 27,299
01 SAt- SHINTES 622,484 595,185 27,299
OAMAZelSH SXNALE JAAES 622,484
= e R s 409,262,000 409,262
-AELEAEHSHA 213,222,000 213,222
404 SASHUA=2EHES 48,800 87,200 A38,400
01 BA- SHI=2EEZ 48,800 87,200 A 38,400
OAMEZeSH SXNALE IH2dE3 48,800
= E S RS R 38,000,000& 38,000
-PEXIIFLAESHEI 10,800, 000& 10,800
Ch23h I8 FM(M=EX/ES - IHBL0Y) 797,064 812,360 A 15,296
J| 323,766
< 87,024
Al 386,274
HYSIHEEs Y 797,064 812,360 A 15,296
J| 323,766
< 87,024
Al 386,274
ZE0I8HA MIABEUSE 96,830 74,570 22,260
101 @124 dl 19,400 19,400 0
04 JIZtHZ2XEES 19,400 19,400 0
OZe0l2d ned HHSE) ¢ UsE
FUl (= gXitel #E) 19,400
-QI24H| 200,000 x10Y x9& 18,000
-2 2 203 140,000& 10 1,400
201 £B-2dH| 24,030 12,870 11,160
01 At 22l 17,480 6,320 11,160
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2N 04D
Ct

FM: OR3 HE FH(MIABX/ES - IBELAHY)
Chel: HYSINEEIEL (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O1.9et==2Hl 13,800
“ZEBOIDGA IRALET YL
1,800,000& 1,800
U2ty MEAIE Y
12,000& = 1,000 12,000
Ob5.=2&Hl 1,680
-G230tE s 022X 24
7,0003 2 +102 128 1,680
O6.2dxt=z 2,000
220180 dEMESEs HAYX
500,000 *2CH 23] 2,000
02 =224l 2,500 2,500 0
O1.3322ILHA 2,500
2223 (&83, HY ,2H) 2,500,000& 2,500
03 A2 Z Hl 4,050 4,050 0
OLZ3tot=s &AL 4,050,000 4,050
202 4l 1,800 2,700 A 900
01 = LH Yl 1,800 2,700 A 900
OZ=E0l2I0d etz =30l
60,0003 x2H 3 53| 1,800
301 L2 A=z 33,100 33,100 0
01 MEIBEE 253 27,000 27,000 0
Ot=23stE 483 NF 180,000& »150H 27,000
09 HALAHIEA S 6,100 6,100 0
OZE0l2Hd NMTHSEDl ANESALR 4]
7,0003 3100 2,100
OZE0I2HAE AsIRENE FAX Al
10,0003 x25H »23| x4 3 2,000
OUI&ItE XA S AR &bl
10,000& 50K *43| 2,000
307 2Iz2tol ™ 16,500 6,500 10,000
11T ASI S AAEE = 16,500 6,500 10,000
OXxg 23t =M ¢ #= 5,000,000& 5,000
O=xg ezt & 1,500,000 1,500
OgMdt=e Ch2sit=Ee 23S ME
10,000, 000& 10,000
405 XHobF S HI 2,000 0 2,000
01 XAt 2 ZFH S| 2,000 0 2,000
OZE012HY HHEHE A =01
2,000,000& 2,000
CGR2sitsXddEH2I (EX) 507,714 530,820 A 23,106
J| 323,766
< 55,184
Al 128,764
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AN GEIEY
B 028 IS FM(MS=N/EE - HEL0A)
Chel: HYSINEEIEL
SA - BB B () - MM - BES il
101 14 Hl 421,822
J| 271,747
< 45,023
Al 105,052
04 JIZHHZ2XREES 421,822
OUIsIEXNAEH 341,400
—HIE S AKX 98,160,000 98,160
J| 49,080
= 14,724
Al 34,356
-2 EZ X S A 800,000& x18H x10& 144,000
J| 100,800
< 12,960
Al 30,240
- X T A 1,280,000 x1Hx12& 15,360
J| 10,752
= 1,383
Al 3,225
AL R AL 1,800,000 x2H x12& 43,200
J| 30,240
< 3,888
Al 9,072
S HA XA A 1,130,000 x3H x12& 40,680
J| 28,476
< 3,661
Al 8,543
O4AEd J|1&a2d=2 38,052
—HIE S AKX 11,294,000& 11,294
J| 5,647
< 1,694
Al 3,953
-2 ME dHEY, SHA 26,758,000& 26,758
J| 18,729
< 2,409
Al 5,620
OElA= 30,850
-HIE S AL 8,180,000& 8,180
J| 4,090
< 1,227
Al 2,863
-2 ME JHEY, SHA 22,670,000 22,670
J| 15,869
< 2,040
Al 4,761
OgEZXNE A WSH| 11,520,000 11,520
J| 8,064
< 1,037
Al 2,419
201 L2l 50,130
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0¥ MO 0x
U

ol ol

|_

)
OlE BB(ANESK/ER - IEL0Y)
IESHEY

CEE LS9 (3A) - NRAY - B2 il
Pl 31,011
== 5,735
Al 13,384
AP 22| d| 50,130
O1.8t==H| 24,020
O2NENAME ARERS R
4,500,000& 4,500
Dl 2,250
& 675
Al 1,575
-dEHESY 2det+2H| 5,990,000 5,990
J| 2,995
& 899
Al 2,096
-S20s WM, 3 7Y 2,178,000& 2,178
p 1,524
= 196
Al 458
-MET T A Y LBt 2H| 470,000& 470
J| 329
& 42
Al 99
-Z220/2 X HEY 2HH| 760,000& 760
Jl 532
& 68
Al 160
“NEHAHEEAE W, 3 2¢
3,360,000& 3,360
J| 2,352
= 302
Al 706
-SHY =X J|Etx=24| 550,000 x3H 1,650
J| 1,154
& 149
Al 347
-2 uU=s WM, B3 7 2,312,000& 2,312
J| 1,618
= 208
Al 486
U230 AA s LEt=2Y|
2,800,000 2,800
J| 1,400
= 420
Al 980
03.82dxd 25,110
-OS23EsXNSE G 3oEFA =E
70,000& 15 x23| 2,100
J| 1,050
& 315
Al 735
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2N 04D

HM: 23 IE M (AS2X/ES® - HELAHA)
R HAUSIE2F XS (&2 &)
SN EB S (3H) - NEAY - BES ol &k o8 ﬁlf& HD=2
ZEOU0AE NHD=A 2RuN ~2
20,0003 x1H *x2 Al 2t%x1003] 4,000
J| 2,000
== 600
Al 1,400
S22 us ZA=E
35,000& »2H #27 Al 2+ +9 & 17,010
J| 11,907
== 1,531
Al 3,572
-Z2E0/2104 NUEESA BXX =¢
10,000& 1 #2 Al 2t%x1003] 2,000
J| 1,400
& 180
Al 420
O6. 4 Xtz 1,000
-UES3IEXNSHE A AR
500,000 *x2CH x13l 1,000
J| 500
o= 150
Al 350
206 M = dl 5,480 4,200 1,280
J| 2,740
o= 822
Al 1,918
01 X = Hl 5,480 4,200 1,280
OUSRFAAMAAY & HMEXE M|
5,480,000& 5,480
Dl 2,740
o= 822
Al 1,918
301 et A= 30,282 30,209 73
J| 18,268
& 3,604
Al 8,410
09 #HAIAHI BAZ 30,282 30,209 73
OZE0|8IA ANEXELY T2 ZAl
7,000& *35% x4l 2 *23| 1,960
J| 980
= 294
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